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[=]

A0
T

Series BVM/C o N1_59 /1 /2

- Q-
Roll No. W 99 g | &

Candidates must write the Code on the
title page of the answer-book.

[=]

o FHNIAE R AfFEIHHAHHGI IS 19 8 |

o UH-UA H TEH BY hl AR I T i T hl B IA-YEIhl o E-I§ T
ford |

e FU AT R AR IATTAH 27TH & |

o THIAT U T I ToT@HAT I[E i | Uged, U9 i shHTeh Tavd fo1d |

e U YH-UA I Ued o I 15 e o1 0 &1 71 8 | WRH-9F ol [aair qdis
4 10.15 &9t fopam SIT@ | 10.15 s F 10.30 S50 dob B shddl -9 il Uil
3R 39 AAY o G o IT-JREqehl W hig 30t A&l forel |

e Please check that this question paper contains 19 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the fitle page of the answer-book by the candidate.

e Please check that this question paper contains 27 questions.

e Please write down the Serial Number of the question before
attempting 1t.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.
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() @Yt ye7 HErRf & 1 3 Iv7-97 § FT 27 Y97 & | ¥IA-97 qid @Sl H
fasrfaa 8 |1

(i) @US I 4 Y37 &I 1-5 dF 9% Y97 Uk 37F H1 & | JdPb J97 BT I
20 vs3l @ 37fere 787 517 T30 |

(iii)) @US F § Y97 G&IT 6 — 10 TF IcdF 97 3T 3HH! &7 & | I dF 97 HT I
40 vec] @ 3718 &7 517 TR0 |

(iv) @UEH T Y97 G&IT 11 - 16 T JdF I IR 37H] &1 & | IIb JI7 HT I

100 ¥rscl @ 37fere 781 &7 T30 |

(v) EUE T H Y97 GEIT 17 - 21 TF I Y97 Qi 3FH] 7 & | Jcdb J97 HI I
150 Yec] G 37 787 8147 T1i50 |

(vi) GUE T H ¥97 F&IT 21 HHET W YIRT F99 &8 | 38 I GH!
FIR-YledesT H 17160 |

(vii) EUE T § I GEIT 22 — 27 Tb b Y97 B bl H1 & | Jcdb J97 HT TN
150 '3/ec] & 378 757 147 =0 |

General Instructions :

(1) All questions arecompulsory. This question paper has 27 questions in all.
There are five sections in this question paper.

(11)  Section A contains Questions number 1-5 of one mark each. The
answers to these questions should not exceed 20 words each.

(111) Section B contains Questions number 6 - 10 of two marks each. The
answers to these questions should not exceed 40 words each.

(iv) Section C contains Questions number 11- 16 of four marks each. The
answers to these questions should not exceed 100 words each.

(V) Section D contains Questions number 17 — 21 of five marks each. The
answers to these questions should not exceed 150 words each.

(vi) In Section D, Question number 21 is a map-based question. Write its
answer in your answer-book.

(vit) Section E contains Questions number 22 - 27 of six marks each. The
answers to these questions should not exceed 150 words each.
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SECTION A
1. Hif9ad 99 & 69 9d1 &l Fifdad 99 & faged & e et 9 =1 31 Hehdl 8 2
IS Ush U TARGY | 1

Which leader of Soviet Union can be blamed for the disintegration of
USSR (Soviet Union) ? Write any one reason.

2.  HeAQTHl AN okl AY T T | 1
Explain the meaning of ‘Indigneous people’.

3.  YNd o Tordl Wt TST H Ul TR-HIUHT TR HiF-Ht ToHITdeh 9Tl 9 415 2 1
e D)

AR 9 bl Toheal @ THItdes dTiedt & A1 fafgu St 9= giviieree
qrel | g3 B | I

Which political party formed the first non-Congress government in any
State of India ?

OR

Name any two political parties in contemporary India which trace their
origins to the Socialist Party.

4. ‘ot Seft % fRe T o1 B et I :
HAAT
‘AT WHITA o TohE Teh MY hT YodTehd ShiTIT | 1
Evaluate any one merit of ‘ASEAN Way'.
OR

Evaluate any one merit of ‘Bandwagon Strategy’.

5. Tfaled # 9 -9 %9 A0 & Tra H Te7d 8 ? 1
(i) YRl SEIARTH 7 |
(ii)  STeTRTUT ST YT STcTfereh UM 7 |
(i) 399 GoAI o sI9 GuY 3c9d &I BT |
(iv)  STEirehl o ShIOT dTeTeRll B3 2 |

59/1/2 3 PT.0
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Which of the following statements about globalisation 1s tncorrect ?
(1) (GGlobalisation 1s multidimensional.

(11)  The impact of globalisation is highly uneven.

(111) It does not lead to conflict of values.

(1iv) Technology has led to globalisation.

Qus o
SECTION B
6.  HMEAAT hl GL& shl HHIAT hl L& U Ak AUl HFH o TohEl Teh HRU
ol Tagelyur i | 2
HAAT
Y] AYAR E-Y 1968 @l A& =01 af-g @gd & fohell Th HRU &
fergeryor IR | 2
Analyse any one reason for considering human security more important
than territorial security.
OR
Analyse any one reason for considering NPT of 1968 as an arms control
treaty.
7.  Frfafed & @8 e Hif éx4=2
T ‘A’ 7Y ‘B’
(a) T g (i) SRREINIEIp
(b) S A — 5 fopa™ (i)  TH HAR Alfgan
(c)  H¥YU Shif=d (i) 3f=eq e
(d)  T-HUFET (v) T SgIgL A
Match the following :
Column ‘A’ Column ‘B’
(a)  Garibi Hatao (1) Jai1 Prakash Narayan
(b)  JaiJawan — Jai1 Kisan (11) Ram Manohar Lohia
(c) Total Revolution (111) Indira Gandhi
(d) Non-Congressism (iv) Lal Bahadur Shastri
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fqoms 1952 H Tsh (T TS, AFY YR, §°H & &I HRU sl IR

EQIE 2
SOEC

WA sl ShHYE 91dl g f&dTcHeh Shifd o I i Bigd U1 1951 H §T A

TGl H HTT @ w1 U @4 %k Rl i ISR hifT | 2

Highlight the main reason for the formation of a separate Andhra State
in December 1952.

OR

Highlight the reason for the Communist Party of India abandoning the

path of violent revolution and deciding to participate in general elections

in 1951.
9. ‘Oiferee widl At fa=mem &t fopeal e faxwarstt s 9uie shifse | 9
SOE|
TG <hl J9H J=aNT ST <hl foheal el faRiyarstt sh1 9uie shifsu | 9

Describe any two features of the 1ideology of ‘Socialist Party’.

OR

Describe any two features of the First Five Year Plan of India.

10. & gHEAT o <M § BT o SATGIAA] b THNUMTH Sl JodTehd hIToT | 2
Evaluate the result of forest movements in the third world countries.

59/1/2 5 PT.0
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Qus |
SECTION C

11. 3SEN ! EEAT U HTehed hItog Teb TRET 3T {hIhT o 9d T&ad <30

TTeT FET shl AIAT JUT H FTHAT hi S JTell AT § 3T of | 4
HAAT
fovam agTeft Sl YishaAT T IGTEWN hl AT H HThaid <hItaC | TohE TR I3
JishaT 28T 3R g § o9+ o 194 o €9 § 1A HLdl & ? 4
Assess with the help of examples that the security challenges faced by
the newly independent countries of Asia and Africa were different from
the challenges faced in Europe.
OR

Assess the process of confidence building with the help of examples. How
does 1t function as a means of avoiding violence and war ?

12. 1947 H §U [AHSH & Tohal < IROMHT T I 119U | 4
Describe any four consequences of Partition in 1947.

13. 3T & H-F G9€d o [IIeINul SHifTT | 4
Analyse the US Hegemony as hard power.

14. 3Md Ig o S HERIRRAT R DI <2 el A4 [ H SHIC T o Toheal al
HIUTl shl STEAT hitaT | 2+2=4

HAAT
YR <hl Te-FRUeAdT sl il hi ATAEHT o fehal Gl UM hl SATEAT ThITT | 2+2=4
Explain any two reasons for the superpowers to have smaller countries as
their allies during the Cold War.
OR

Explain any two reasons for the criticism of India’s policy of
non-alignment.
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15. Hifadd 99 o a9 o fohral I IROMHT shT Ui <hIfSU | 4

Describe any four consequences of the disintegration of the Soviet Union.

16. g uiwg & A¢ TRl geei % foiw ydrfad fhu 7T AHEeUEl 1 HoATehd
<hITTY | 4

HYAT

<1 <hl FXEAT Bl WA o T Al o1 AThetd hiToTT | 4

Evaluate the proposed criteria for new permanent members of Security

Council.

OR

Assess the new sources of threat to the security of countries.

QuE d
SECTION D

17. = QU U FG@U BT SHIGD AT HIoT AR FAfAgd T4 & IW
At

ASE o THI WA % HH4 fdh@ % g Higd 9
3ENATE-JSI 9T Higa dYT UGG Aisd | WA H g T T
% ®H % GHSEG Aied ¥ dgd YHIad o W= AHRT o Ysitare]
WIS o THU ogd A 9 | WA o foeh™ @ 34 @l Hisdl H 9 ferd]
! i &I AR | YT | gl Higdl o dwal sl THAT S 39T
T | 39 U1 | 3Tl THING AdqaEqr gl T |

(i) WA H foehr® o fohd Higd hi AR T ?
(i) Torehr® o 39 Higd I TAAT o Toheal &l Tog3tl 1 forgeryor

shITTT |
(ili) &S I g1 TEdTfad SiFd T bl fagasor shifsu | 1+2+2=5
3reran
59/1/2 7 P.T.O.
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e fCu TTU AT T IS JSRFH e AR FA=fiRgd I o I
T -
1960 = ek T Y I g3 ¢ & Fgal gt T | 1940 W
1950 % S H & QT o 3cdTed hl Jhg o, IAHEAT 6l Ihg X
H SE-dY 3794 I FU W 15 AT | 1965 H 1967 & i< <3 6 3h
feeat & g v | 3H safy § wrRd 3 S g o wma o o S|
foreell gg1 o Tehe ol 1 AT 98T | 37 A1 91dl oh R WITH ohl
YHI hUT Bl g 3T < o 37+ AT H bl wiet el 34 uEt |
(i) WA < ThH TSI T QR o Hehe h1 Gad A(eeh THTE 5T ?
(i) 1960 % b H YRA U QT Tehe (g HHI) o Tehral &l hION
ol Taget T ST |
(iii) 1960 % Tk H IUA U W Hehe o fehral @l JHUMHI <l
IEFmLII W\sﬂl | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

On the eve of Independence, India had before it, two
models of development : the liberal-capitalist model and the
socialist’ model. There were many 1n India then who were
deeply 1impressed by the Soviet model of development. There
were very few supporters of the American style of capitalist
development. India did not follow any of the two known paths
to development. Elements from both these models were taken
and mixed together in India. That 1s why it was described as
mixed economy.

(1) What model of development was adopted 1n India ?
(11) Analyse any two points of criticism against this model of
development.

(111) Analyse the ‘Bombay Plan’ as proposed by big industrialists.
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Read the passage given below carefully and answer the following

questions :

The agricultural situation went from bad to worse in the
1960s. Already, the rate of growth of food grain production in
the 1940s and 1950s was barely staying above the rate of
population growth. Between 1965 — 1967 severe droughts
occurred 1n many parts of the country. This was also a period
when the country faced two wars and foreign exchange crisis.
All this resulted in severe food shortage and famine-like

conditions 1n many parts of the country.
(1) Which State of India was worst atfected by the food crisis ?

(11) Analyse any two reasons for the acute shortage of food in

India in 1960s.

(111) ~ Highlight any two consequences of the food crisis in 1960s.

18. = fqU Mo 3aaiul &1 SIHYEs AL/ HiC AR HHIRGd I 6 I
NIECLE

ITATE! o qd 91¢ BHNR ¥ bl T9UTeH, TawemaH, <&l fameal
o oo™ IR TS o GATled 99 hicd ATl H SEHET 981 | o1 3R
faqe % 3T TSR] T IIHAM AT foh HRA Tehlshd USE o &9 H
s1g1 fedl deh e @1 qmwm | A % qd ST SERIHIT o6
TET A AR | I8 Tk WRa TR Iifehea o site Tuy Sl HTHel
TRl AT | hIHR =TS & AN hl ToHITdeh TThITTAT T Fara Wi 399
ST 83T o1 | 3ieh $H! T8 YAk o HS WA H HRA 61 3T §H
gl 9 HgHld dal ot | gferur wra § ol glag ITeied § I8 39
TGl 4 Teh G0 3Tl TS <hl &1d ISR o |

P T4
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(1)

(1)

(ii1)

qait YR & W8 Rl @ & % AW fofew & oend % e
HAEETE] JTClT 1 367 §3T |

STH-hIHR H TR h hls Gl ST HATd hITIT |

YA H TP Tehdl shl BISd i o hIg al U AT | 1+2+2=5

Read the passage given below carefully and answer the following

questions :

(1)

(i1)
(ii1)

After Independence our nation had to cope with many
difficult issues like partition, displacement, integration of
Princely States and so on. Many observers both within the
country and from outside had predicted that India as one
unified country cannot last long. Soon after independence, the
issue of Jammu and Kashmir came up. It was not only a conflict
between India and Pakistan. It was a question of political
aspirations-of the people of Kashmir valley. In some parts of the
north-east, there was no consensus about being a part of India.
In the south some groups from the Dravid movement toyed with

the 1dea of a separate country.

Identify any two regions of north-east India where the

secessionist movements emerged after Independence.
Find out any two reasons for the unrest in Jammu and Kashmir.
Suggest any two methods to strengthen the national unity in
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19. 9 QU T AT 1 LAMYAeh L[ HitaT IR FHIRGd I o W
T -
TG o Uad b 91¢ Yd Hil9dd 9 o TURSY T Edrdral,

OTSATE] SAGEAT ° Alhdi=eh Yaildig] SHaedl deh o hteyg HshAUl Y
gt TR | &, T TR o VRS 7R et I o <M | goiang 6l
3R GshHUT 1 Teh WH Higed R T | fovg b R AU g
Y R QR 36 Higed i Tleh AU (HTHT Ig=reht IT=N HAT)
gl T | a9 GHdl gHAT % ol H ek 9l Kl A HX TEAT
JTCTT-3TeTT Tl ifeh 3&ehl Tum 3R =i oISt H191 e Teh 519 o |

()  HF-E T ARSI TEATSAT F Aqd gE g o ¢l o foTu wives SR
hl ] TehaT ?

(i)  3Tieh At <hl Tereal a1 famyarett sh s shifsu |
(iii)  3TTeh Al h <hig e TRUMH I shifau | 1+2+2=5

HAAT

e fqu U 7Gat0 1 SAHYdsh AL hive IR F=feifgd g9 & I
NIECIE
qLATY] g <hl T H I G&Tl i 3aT JhE ISHT IS foh ITH &
fasial @ g — I8 9 ST Wi T B | TR iz 3 I W
STTSHHUT Tk 3G THTY] IR oh! AT i 1 RIS FHLT & a9 ol
qE % UTE 3 Feg HH AR BUAR 99 A | 38 U0 (Ush IR
Hqd) 1 deh hgl T | GHT & 9871 o IE Th-GAL o Hehlod 3N
R R U5 <hl 3a-1 &HT Bidl 8 foh iz ol 98 g 1 G ==l
3SIHT Hladl |

i) 9] g niEes @ AR g ?
(i) 2fid gg Tord RO ¥ ST HEIHAT < o< YU g | qiaidd &l g3 ?

(iii)  ‘3UqY kT Y W hifTu | 1+2+2=5

S92 i PT.0
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Read the passage given below carefully and answer the following
questions :

The collapse of communism was followed in most of
these countries by a painful process of transition from an
authoritarian socialist system to a democratic capitalist system.

This model of transition in Russia, Central Asia and East
Europe came to be known as ‘shock therapy’. It varied 1n 1its
intensity and speed amongst the former second world countries,

but its direction and features were quite similar.

(1) Which two international institutions administered shock
therapy in the former second world countries ?

(11) Explain any two features of shock therapy.

(1) Explain any two consequences of shock therapy.

OR

Read the passage given below carefully and answer the following
questions :
In the event of a nuclear war, both sides will be so
badly harmed that it will be 1mpossible to declare one side or
the other as the winner. Even if one of them tries to attack and
disable the nuclear weapons of it rival, the other would still be
left with enough nuclear weapons to inflict unacceptable
destruction. Both sides have the capacity to retaliate against an
attack and to cause so much destruction that neither can atford

to initiate a war.
(1) Why 1s a nuclear war indecisive ?

(11) Why did the Cold War not transform into a full scale war

involving the superpowers ?
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20. & foU T HEd H AHYHD ALIT hitaq Yl H=IRgd I & IW
et

JAMFE e fh
g ULhIL ohl dATet 9

..q g < |

(1)
(i)  Tordl fHceliett (T8e=aH) TLhR o fohral gl qINl ol TIE hifuT |
(iii) + B hlgd H A T@ T3 shl ISR I | 1+2+2=5
Study the cartoon given below carefully and answer the following
questions.:
THEY SAID

THEY'LL SUPORT

THE GOVERNMENT

FROM OUTSIDE!
(1) Name the Prime Minister shown 1n this cartoon.

(11)  Explain any two demerits of any coalition government.

(mm) Highlight the message conveyed by this cartoon.

59/1/2 13 PT.0
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FIZ :  HEIIET 399 Fact GIRETEad GALTdat & 178, Y97 &7 20 & T W E

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 20 :

(20.1) HRd H YgA! TS ohl TR & T Tt skl 91 [ARgU |
(20.2)  TEEEH AYAT THEATS[CI! TLhR Sl 1Y TISE HITT |

(20.3)  TEEYH ThHR o hig & N IATR shifad | 1+2+2=5

(20.1) Name the Prime Minister of the first coalition government in
India.

(20.2) Explain the meaning of coalition government.

(20.3) Highlight any two demerits of coalition government.

21. U % fqu U usHifde W@iAEtE (98816 W), H Ul ¢Sl
@), ®, ©, D qe (B) g <uiEn T8 | A= & TS AR & STER W3

CSTl h! UgdM <hifse 3 {1 IAL-Yfedehl H Seh &l =M™, TAN i g
SR <hl shH T&AT dAT Tral-ad 18R, A= &I 78 dIfeiehl o ®9 H TIRgU

qﬁﬂﬂﬁnﬁnmfl graf-erd 378 | < T A
ShH FET

(1)

(11)

(111)
(1v)
(v)

(i) 39 &7 o1 Ush <1 Sl UTfeh&dTd hT W T |

(i)  STYT TTIGEAT Sl IR §H ATAT 39 &1 o1 I9H < |

(ili) Ueh < Sl HaHTHeh Tefad o |

(iv) U <3 Torad Sl SAehdii-=ieh 31T 8= 98 @1 2 |

(v) Ueh & Sl 9Teh 1 He& 81 3 | 1x5=5

59/1/2 14
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In the given political outline map of Asia (on page 16), five

countries have been marked as (), B), (©), (D) and (E). Identify them on

the basis of the information given below and write their correct names in

your answer-book with the respective serial number of the information

used and the concerned alphabet as per the following format :

Sr. no.

of the

information used

Concerned
Alphabet

Name of the
Country

(1)

(1)

(iii)

(1v)

(v)

(1) A country of the region which was a part of Pakistan.

(11)  The first country in the region to liberalise the economy.

(1m1) A country which had been a constitutional monarchy.

(1v) A country that experienced both civilian and military rule.

(v) A country which 1s not a member of SAARC.

FOANTICAE RCIRRIC PO AT AL ROFKCPPGANTE AL SCIFRCE
] R
= E
O =
x =
b T
"

£
CAT EAE RO PR FPC ATHCAL ROFNC FRATEC AL RiCIFRECT

1

P T4

@
&collegedunla;
India’s largest Student Review Platform

—



E.E% [=]
[Blir
g3 9. 21 % 17T For question no. 21

TIVRT — USHITdSh Asia - Political

Kms. 500 1000 1500 Kms.

—
—_ . . = =
Fig:  HERIRGd 9 @acl GIRETST GHATaar & 1c7g, 397 &gl 21 & EH T

Note: The following questions are for the Visually Impaired Candidates only,
in lieu of Question No. 21 :

(21.1)  cferor ufden @ fRet weh w1 @1 AW fafgu i@ gFi, Alehdiiie 31
= E @1 3 |

(21.2) Uk UH TRET o I 9M fAIRaq S 31did | fa=g Usg o |
(21.3) 39 <3 h1 911 TARGE ST ITferEd™ T 9T AT |

(21.4)  ®Th < fopral TR He&g a9 o 9™ fafgn | 1+1+1+2=5

collegedunia:
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(21.1)

(21.2)

(21.3)
(21.4)

Name any one country of South Asia, that has experienced both
civilian and military rule.

Name an Asian country which was a Hindu Kingdom in the
past.

Name the country which had been a part of Pakistan.

Name any four member countries of SAARC.

Qus g
SECTION E

22. “S9 Tl 4 Alehd H TIIEAT Bl & S9F 39 [I&dR H ANEH e

2 |7 Gl hl TEIAT § S 6l gfee Hifs | 6

HAAT

“ara o Taf¥@ &=l b AT g S1YeERE <l T8 &Y SATRee fafiedar I Wehd
T 3QTEWN & | bl bl WEIAT & e <hi Yfse shifog | 6

“The popular movements have contributed to the expansion of democracy

rather than causing disruption.” Support the statement with arguments.

OR

“Regional aspirations expressed by people of different parts of India 1s an

example of Unity in Diversity.” Support the statement with arguments.

23. ‘GEd U YA o fehral o9 dliehl ol [IIINUT hitaTT | I%3=6

HAAT

1970 s &g T4 GRI AU JTATGEAT &l U o ToTU 3I3MT T fehegl A
el o1 foewor SHifST | 2%3=6

Analyse any three methods to overcome ‘hegemony’.

OR

Analyse any three steps taken by China to reform its economy after 1970.

FOANTICAE RCIRRIC PO AT AL ROFKCPPGANTE AL SCIFRCE
] R
= E
O =
x =
b T
"

£
TAIT A8 RCIFRC PO ATHCAL ROFRNCFRETEAL REIFREE

P T4
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o4, VAUl o HRUT AT GRI AW TohU TU fehegl oM REdHl @l ITTR

EIE 2%3=0
HAAT
e F TE @ TR % A A ger | 936
Highlight any three changes experienced by you due to globalisation.
OR

Suggest any three methods to protect the environment from pollution.

25. 1969 T HIUE Ul i u=Tieh aWTSH 6l 3T & I Tt feheal b I9@ el

ol TqsE hHifT | I%3=6
SOG|

1975 H 3ITUTdshIcd <hl HINUM o6 [0 ITierRt fohegl 9 RO <hl Il

WI 2%x3=6

Explain. any three major issues that led to the formal split of the
Congress Party in 1969.

OR
Explain any three reasons that led to the declaration of Emergency in
1975.
26. 9RA ohl Te-AueErar i ifd i fh=gl IR Ta=INarsl sl JuH ik | 1 éx4=6
HAAT

YR AGYH o 3108 51 % 3T=iid ST=alseid IMi=d 3T LT i deral ¢’
& o s & difa Fove fugar o gfmfaa fesl Ir e

%! fofigu | 11v4-6

2

Describe any four features of the non-alignment policy of India.

OR

State any four principles of Directive Principles of State Policy on

‘Promotion of International Peace and Security’ as per Article 51 of the

@
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Indian Constitution.
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27. 3iqu M AR HE gk & o9 faarg & Thal aI® Hel 1 IUH
d§|lﬁ|q | 1£><4=6'

SOC|| )
1975 W AT sl g TUTAhIA o GRH hl T8 fhral IR JhR hl SATGIAAT I
guia IR | Iéx4=6

Describe any four issues of conflict between Indira Gandhi and the
Congress ‘Syndicate.’

OR

Describe any four type of excesses made during the period of Emergency
imposed 1n 1975.

FAMEAL fCIFMO PO ETICAL ROTKCPPTANTE AL SCIFRLE
A =
= E
3 =
] i
b T
P

£
TAIT A8 RCIFRC PO ATHCAL ROFRNCFRETEAL REIFREE
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